71

B eql:=cos(2*x)-cos(x)"2;
eq2:=diff(eq1,x);
combine(eq?);
eql :==cos(2x) — cos ()c)2
eq2 = -2sin(2 x) + 2 cos(x) sin(x)

-sin(2 x)
[> eq3:=sqrt((x*2-1)/(x*2+1)+1);
2 —
eq3 = x2 ! +1
X +1

[> plot(eq3,x=-10..10);

X
[> 1/(exp(2*x)-2"exp(X));
1
er _9 ex
(> int(%,%):
1 1
—In(e"—2) — — In(e") +
(¢=2) = mle) + -
> x*n*In(x);
¥ In(x)

> int(*nfin(x) x=1..2):

1+2" " ' m@2yn—2""" 42" 'n(2)

2n+nt+1

B with(LinearAlgebra):
> A:=Matrix([[1,-1,-11,[-1,2,21,[2,1,211);

1.1)

1.2)

@1

2.2)

(2.3)

24)

1 -1 -1
A=|-1 2 2
2 1 2
=> Ai:=Matrixinverse(A);
2 1 0
Ai = 6 4 -1
-5 -3 1
> ALA;
100
010
001
> B:=Matrix([[1.-1,01,[-1,2,2],00,2,11]);
1 -10
B=|-1 22
0 21
=> I,V:=Eigenvectors(B);
EANNE T
5

=> Column(V,1).Column(V,2);

=> simplify (Column(V,1).Column(V,2));

25
B e e ]
25
Ce(repm) (-]

@3.1)

3.2)

33)

(3.4)

3.5)

3.7



0
=> simplify (Column(V,2).Column(V,3));
0
B simplify (Column(V,3).Column(V,1));
0

[> f1:=unapply (a*x*2-b*x-a+bX);
f1 =x—ax*—bx—a+bh
[> bO:=solve(f1(-2)=6,b);

b0 :=-a+2
> x0:=solve (diff (1 (x),%).X);
1 b
x0 = >
B subs(b=b0,x0);
L -a+2
2 a
=> factor(subs(b=b0,f1(x0)));
1 (3a—2)
4 a

> dmax:=0;
for i from 1 to 1000 do

dt:=evalf(sqgrt(ithprime(i+1))-sqrt(ithprime(i)));

if dt>dmax then
dmax:=dt;
print(dmax,ithprime(i),ithprime(i+1));
end if;

end do:
dmax =0
0.317837246,2, 3
0.504017169, 3, 5
0.670873479, 7, 11
> dd:=[;
dmax:=0;

for i from 1 to 1000 do
dt:=evalf(sqgrt(ithprime(i+1))-sqrt(ithprime(i)));
dd:=[op(dd),dt];

3.7

(3.8)

3.9)

“.1)

@.2)

@3)

@“4)

4.5)

5.3

end do:

=> with(plots):
> listplot(dd);

0.6
0.51
0.44
0.31
0.2
0.1

dd=1]

dmax =0

100 200 300 400 500 600 700 800 900 1000

(5.2)



